SHA-1 3232 4

*% SHA-1 (Secure Hash
Algorithm) 5% & ;2
4 FIPSPUB 180 £ FIPS PUB

180.1 < L * 512 bits >
‘ RERE 1 ~512bits 64 bits
oo > N e c1 ,k’ 3 N _ %— g\
® ®EMEF A2 (7 MDS FRE | KT | T
#E] F') 7 //7 ;"\\ ‘\\ <
///512 bi’[S/// '/I E b \\\
128 128 128
vV HMDS ‘ CVI HMDS ‘ CV2 HMDS ] > CVL-l
128 bits
HERE

LYY N




5

% SHA-1 ;%52
® %@ : 160 bits
® 5 32bits 3 = -
® FWEA4vr £ 20=x/v &

t80w & -

B o 5

FES
£y, Ky, WIL, =0, 20 steps
£, K, WIt], t=20, . FlHE

20 steps
£, K, WIt], t = 40, F=EE
20 steps
£, K, WIt], t=60, ... SHPlElE
20 steps
A \ A YV VY
SUM;,

[ FIF]F] [+
U V"

160 bits

13




| SHA-1

QU9y
- |
Jut
AL,
M-

B W3R E
A : 67452301
B : EF CD AB 89
C: 98 BADC FE

D: 103254 76 A& BT L TPNG HUETTA (BEED)
£ . C3D2 ELFO E%i—@i 0=t=<19 K, = 5A82799 [2:Zx2]
" ﬁ] x ’#‘ th f:lﬁlz 20 i t i 39 K, : 6ED9EBAL [230 x 3]
& @, sui FE=ES 40 =t < 59 K,=8F1IBBCDC  [2%0x5]
R FEruEE 60=t=79 K, = CA62C1D6 [2%0 x 10]
= WMALFE
& WIK], k=0, 1, ..., 79 » 32 bits ¥ £&
& 214 512 bits & & W[0] ~ W[15]
& WI16] 12t crg » 3 58 ¢
WI[t] = S{W[t-16] & WIt-14] & W[t-8] & WIt-3]),
t=16, 17, ..., 79
¢ Bic
. WI[16] = SY(W[0] & W[2] & W[8] & WI[13])
e« W[17] = S{WI[1] & W[3] ® W[9] & WI[14])
o WI[79] = S{(WI[63] & WI[65] & W[71] & W[76])
e ¢ (SligFmzi¥N- B oo
14

B o 5




SHA-1 @%’ﬁ&ﬁt

% AGLAER 14w s o £380% ;5 BEHE
® A=E+f,,(B,C, D)+S¥A)+ W[t] + K,

& B=A
& C=S%(B) s % ?
-

& E=D

FX D
Ufres
A=E+f,_B,C,D)+SA) + W] + K _, ;

B=A; C=S%B); D=C; E=D 15
Ly




